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CENTUM QUESTION PAPER -4

TIME:- 3 HRS MAX MARKS :- 100

PART -1

Answer all the 14 questionssiemarg g 14 CaaellEEr&EGL LB Mallgaan 14x 1= 14
D { (v, 2). (4 y) } @ swaflé sriemus @sdng esflo, (v.v) =

(A) 2, 4) (B) (4,2) (€) (2,2) (D) (4, 4)
If { (x,2), (4, v) } represents an identity function, then (x,y) is
(A) 2, 4) (B) (4,2) ©) 2,2) (D) (4, 4)
2) A= {a.b.p}, B=1{23}, C ={p,qr, s} erevfler, n[(AU C)x B] sperg
(@)8 (2$) 20 (@) 12 (Fr) 16
A={a,b,p}, B=1{2,3}, C ={p.qrs} then n[(AUC)x B] is
(A) 8 (B) 20 (C) 12 (D) 16
3) R0 GLBEGS Cgmiauflamaufieo 7, = —f;— LoHyILd 7, = % steufley, ByG6ir QuTgIRil&gin
(A) £ ® 5 ©1 (D) 5
InaGP, 1,=3 and 1, = £ . Then the common ratio is
(A) + ® 3 ©1 (D) 5
u_) F=1,F=3wpmb F, =F_ +F_, GTEUTSH 1SMbOHSLILIGET F) 6018
()3 (2$)5 (8)8 ()11
Given F =1, F,=3 and F, =F_ +F,_, then F is
(A)3 (B)5 (C)8 (D)11

5) 2~ 20— 24 womud 2° — kr — 6 —uledr B.eu.er (z —6) ereufled, k —ulledr I
(o) 3 () 5 (&) 6 (rF) 8
If (z - 6) is the HCF of 2* — 22 — 24 and 2* — kx — 6 then the value of ks

(A)3 (B)5 (C) 6 (D)8

b) 4 64 g uibHELNS LIHN AHEDIL 60T NEITEUBEUTEUN N6 6TEnDHH Fnl L (B6U6TUN(HID?
(21) 42° (=) 162° (&) Bz* (/) —8a°
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Which of the following should be added to make ' + 64 a perfect square
(A) 12* (B) 162° (C) 8a* (D) —8a°

)

103 7
7) 2‘\*l5 T]‘[S) 5

eTeufled, .\ eTedTm Si6vvflemWISH HMETOTS.

-2 2 2 2 I 2 2 1
(‘9')[2 1 (%){2 1 @, , ™1, 2J
_ (1 3) (507
g) Find the matrix X if 2.X +[ _] :l _]
5T 9 5
W B ° B o[>}
2 -1 Bl ©y 4 ()22]
8) Bmswuss WeGsneud AABC -ulsé ZC = 90° whmid AC = 5 6&.5, eTevfled AB gyeors
(1) 2.5 ag18 (=) 5 &5 (B) 10 6.5 (FF) 5V2 esi8
If AABC is an isosceles triangle with /C = 90° and AC = 5 cm, then AB s
(A) 2.5 cm (B) 5 cm (C) 10 cm (D) 5v2 cm

5,‘) (-5,0) , (0,-5) wHmib (5,0) Sydw LeTeflsamed SiEBILMGID (WeGaHNevoTS ST LT
(&) 0 52100656 (%) 25 s.o@ser ()5 so0Ga6 (FF) eTg16001606m 60

The area of triangle formed by the points (-5,0) , (0,-5) and (5.,0) is

(A) O sq.units (B) 25 sq.units (C) 5 sq.units (D) none of these
[ o) sinf + cosf = a wHmID secl + cosectd = b erefled b(a* — 1) —edr Y
(&) 2a (&) 3a (&0 (FF) 2ab

If siné + cos@ — a and secd + cosecd = b, then the value of b(a® — 1) is equal to
(A)2a (B) 3a (©)o (D) 2ab

“) U SibeEGS sLLLSHeT o FAuledmha 20 B e wgweer slLL e 2 &6, sug
Hweunrlenn @néssBameanimisar WemnGw 30° wHmd 60”7 eafld LD JbdHSD
&LLL e 2 _wirid oHmID B S L L ks EHHE QewL Guieren e\Bmeneveutedt &) (LU L fled)
(&) 20, 1083 (@) 30, 53 (@) 20, 10 () 30, LOV3

The angle of depression of the top and bottom of 20 m tall building from the top ot
a multistoried building are 30 and 60" respectively. The height of the multistoried
building and the distance between two buildings (in metres) is

(A) 20, 103 (B) 30, n3 (C) 20, 10 (D) 30, 10V3
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. o : i 51 UM SBLI
eyt ovpetn £ wpHE WD GO IO aenfieo, oipelt QLTSS

Qi 2 (H&®
Sy ? H67h’
1) <h? . ) 8mh - 5. O
| () I g (gy)24nh" & 9 (@) s 5 o ()=
Q
‘ S S ot
The total surface area of a cylinder whose radius is — of its height is p
ih’ 0 ) \ 8Th ) 567h Lnits
(A) M— sq.units (B) 247h’ sq.units (C) 5 sq.units (D) /f) sq-
100 sueyl! yereflaerleot ggnaifl 40 LHmID éh'_l_s)ﬁla)e’banb 3 ereoflev, sueysele iy &8 &6rf160T
S (bHEOMEDT ] |
/ 3)(9:) 40000 (@) 160900 (&) 160000 (FF) 30000
The sum of

The mean of 100 observations is 40 and their standard deviation is 3.

squares of all observations is

(A) 40000 (B) 160900
(W) U555 SSOmHE sLoeumiitiL (pedDUied 6 LSS
oTevoTeuDiledt etTmMD &L LHIILTETHI -2 L& &emme

JLaN 3 7 3 N
Doy 2 (=) @ ()

(C) 160000 (D) 30000
BaiHOBbLHSILGADSI SiBGL LSS
& S@EULSDESTET Hl&1pS&EUTEDT S

10

A page is selected at random from a book. The probability that the digit at units place

of the page number chosen is less than 7 is

3 7 3 7
(A) — B) — C) — D) —
- (B) 15 ©3 (D)
PART -l
Answer any 10 questions. Question No.28 is compulsory. 10x2=20
157 x={1234}, Y = {21.6.8.10) wppd R = {(1.2).(2.1).(3.6) (1))

aeofles, B apemrel @ &ML erens B (b&. GLEID ST WHILISLD,
166001 D SIILIGLD LOHDID cf566560HsH HTEUUID
Let X - {1,231} and Y {216,510} and R = {(1.2).(2.4).(3.6).( £S)).
Show that R is a function and find its domain, co-domain and range?
S\ 2 o o P 0 . .
]b) fx) =a2" 1, g(x) = 22 woHoo go fla) 1 eTeufled, (I-23&% HITEVUTS.
If f()—2* 1, gle)= 2 2 find @, if go f(a) 1.
6(h HUflLID H32 14hHeBNIG&H6T 2 _6TelneoT ) 5 i )
eBLOeoTTTTT . 6T HBH6060T ; - s6u] UflDEHS 21 hHOBILIG B efigld oS
&5 cuIflem & o6l (L(LREMLD CILIMILD 6T60TEYD LOMMILD 678 i :
6D LOMMULD 6THSHEWEDT LHOBHITL QBT

BoHBIHEHSID 6TeOTEYD SHITETOTS.

A man has 532
as o W ‘ > wants
flower pots. He wants to arrange them in rows such that each row

- . 7 ) o
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|8—) 9, 15, 21, 27,...,133 e16dTD Gl (b OSTLIT6uIflewEFUNEDT H(b 2 MILILBEDETH SHIT600TSH.

Find the middle term(s) of an A.P. 9, 15, 21, 27,...,183.

IQ) If A [1) ;l‘,

)

AL BA etetrug) sflwin ereor Qyomiis

eteofleo A B wHmb BA &nesors @b

2 1 2

. 2 0 . .
It 4 |, B 1 5 find AB and BA. Verifty AB — BA?

L O) alq66euTSHS (PHBeNevoimser ABC wHmib P ()R-601 &HmeneyseT (wemmGi
36 658 HmID 24 61815 Y&, PQ = 10 6615 erevfled, AB -6 snetuns.
The perimeters of two similar triangles ABC" and POQR are
respectively 36 cm and 24 cm. If PQ =10 cm, find AB.
3—‘) (5.7) aretip yetafl aufl GFeuHD () X 25656@ QeOETTILTHEYD
(i) Y 216668 Seneoonunsayd siemwhg GnisHGHLIq 6T FDETLIN L& HT65Ts.
Find the equation of a straight line passing
through (5.7) and is (i) parallel to X axis (ii) parallel to Y axis.

3_)_) (19.3) eredtm Ljeitarflemiul SiIQUINEHS OSTETOTL. G6OTMTE0TS)| OFTRIGHTe00T (P&HB&HMevor 6ulg eXiled
2 _aTang). HemIWL 60T G6OTMI THLIGSFID smileyd Gomevond 45° erenfled, @edTmledr Sig WHMID
2 &Fdlemil QemettidH@&D CHITLIG60T FOEITUNL 6DL& SHTET0TS.

The hill in the form of a right triangle has its foot at (19.3). The inclination of the hill
to the ground is 45°. Find the equation of the hill joining the foot and top.

),5) Qm Gaemygb HOIGGHE FHGHETS O deng.  CHMTUTHS e
2u3ILGHuledlpibe Hemruled 48 5, apnemeaied o eten Qb yeTefluledmhg Camyr 2 &dluleor
ahmé&Ganevoid 30° erenfled, GHMUTSHH T 2_WITHemSHH &HTeT0Ts.

A tower stands vertically on the ground. From a point on the ground,
which is 48 m away from the foot of the tower, the angle of elevation of the top of the tower
is 307, Find the height of the tower.
JJA) 484 e1&.8 ammeneyeen (b I &Hn DINedT 2 wigd 105 61815 erevfled, s DLNl6dT HeOT JieTewEUD
&I160016.

If the circumference of a conical wooden piece is 484 cm then find its volume when
its height is 105 cm.

)_5') 16 616 B8 gyuupeinen i @ Geonall Lbgy, 2 HdSUILL b 2 68 15 Jymeen Amy
U SI&ETN&HEILLLIT6D, 6 HH6me0T Lith&)&6T Sleml d@&id?

A metallic sphere of radius 16 cm is melted and recast into small spheres
each of radius 2 cm. How many small spheres can be obtained?

(P7°)
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2 2

|
PAN==, P(B)=—=, P(AUDB — erevfle, P(A N3 0T 6.
D-(D) (1) i (D) g ( ) 5 aefied ( ) BT6TOTE

If P(A) = : , P(B) = ‘ , P(AUB) i; then find P(A1 D).

97 QanebdsIULL eyl  yaeflaende  ofifs  whmwb  efifas66Q
)%ﬁmsmj)mm& Hrevorsd: 2H. 67, A8, 53 18 39, 14,

Find the range and coefticient of range of
the following data: 25, 67. 48, 53. 18, 39, 44.

N - . . . 13 . .
l@) Q, P ereotueot 7o +ax i 2 - 0 —ufedT cpeoraiseT LHMID 3 O _” ereofled. a-ufleor

{
wHIYS SHTETOTS.

It a, f are the roots of 72* + ax +2 =0 and if 3 - a = —_1——; Find the values of a.
-

PART - 1ll

Answer any 10 questions. Question No0.42 is compulsory. 10x5=50

lq)@&n(b&%ﬂum_ eniy [:a — 1° — 52+ 6, erevfled,
D f(=D () f2a) G fQ) () [o-1) duabeop wdides.
Given the function f:2 — 2° —5x + 6, evaluate
1 f(=1 (i) f(2a)
(iii) f(2) (iv) f(x-1)

2047, €
50) emiyf:R =R syeigy f(r) =10 2 -2<r <3
TE0T GUEDTWIMIGEHLILIL L ITED, 3r-2; >3
(i) f(4) (i) f(=2) (i) f(4) +2f(1)  (@{v) %

Sy Sleunmlet HIsHeneTd SHTeTord.

If the function f:® — R is defined by /(1)
then find the values of
F) — 3f0H
J(-3)

(i) f(1) (ii) f(-2) (1i1) fO1) 4 2£(1) (iv)

5‘) 6@ ee@mellgieier efihaEnd® | Wes 1Y euedn QHTLIFALTSS
65600660  uPHIGLULGbETETE.  6shdlelledr  eflun@ (pedTetisned 2 etar  eNbhaerlsdr
&oellessmeeflen nl (hd eBnenswners) csbhdelen el Nl Netensns 2 e efhoerler
&56l&6me6l6 onl (hH6HNENsEEE F0L 6refled 6161HH 601601 651 (b HHENEVDHSSHEDH BIT600T .
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The houses of a street are numbered from 1 to 149. Senthil’s house is
numbered such that the sum of numbers of the houses prior to Senthil’s house is equal to
the sum of numbers of the houses following Senthil’s house. Find Senthil’s house number?

For (bHEDEVDH HIMTevor Find the sum of

57 15° + 167 172 + .. 4 28?

1216~ 165 DieneyseT OSBNeiuiL @ 6\Feueus 6lgeull WhhsTemens aoml w BSULF
SIHOUETET HEDLUTEDG HEMOSSLILGBLOGUTE], SHeDT GLonGs Loy 255 g BlLgns
2 HSHHNG). HEDLUTEDSUIET HIBHEOSHENHSH &HE00TSHE(bS.

A garden measuring 12m by 16m is to have a pedestrian pathway that is ‘«’ meters
wide installed all the way around so that it increases the total area to 285 m2 What
is the width of the pathway?

%)AI(I—I

s 3 ) eeuflsd, A” — 4A + 51, = O erenr flyier|s.

1 -l
If A=(, , )thenshow that A> — 4A + 57, = O.
35) AABC -uiéd C syansy QemGaned g6, Usshias (A wHob

CB-wietr poLystafiser wepnGuw P opmib Q erefled L(AQ* + BP*) = 5AB* arer Himjeys.
Pand @) are the mid-points of the sides ("4 and C'B respectively of a
AABC, right angled at C. Prove that 4(AQ* + BP?) = 545",

QBM(b&HSBLILLL LeTaflsemsT (LemeuTHeMMed SNETL HTMH&THH 60T LTLIenLS HTe0TH.

Find the area of the quadrilateral whose vertices are at
(1) ("9) "2)) (—8) "'4)) (2) 2) and (1) _3) (ll) (—9> O)) (—8) 6)) ('la “2) and ("61 ‘3)

2

P
37) cosce B+4cot =P ereofled, cos = e GTE0TLIEMS [BlemLI&&eLD.
d ,}..

B
P’ 41

If cosecB4cotd P, then prove that cosé =

28 e senpsEConansdlen Guoe F 2 aeflhn 2 Hevetedwl OUNGSHL g euSSHed
) Siemlohg 6h Hesorevnddledr efl’ b 14 0§85 wHpd 2 wmd 13 655 erefled, SidHedr
CIBITETETETENEUS SIT600TE.

A vessel is in the form of a hemispherical bowl mounted by a hollow cylinder. The
- diameter is 14 cm and the height of the vessel is 13 cm. Find the capacity of the vessel.

(P79

Kindly Send Me Your Study Materials To Us Email ID: padasalai.net@gmail.com



https://www.youtube.com/@Padasalai-net

www.Padasalai.Net www.TrbTnpsc.com

36‘, ) Hpsnenand OsnesG 7 5 b 24 5 o wrwh 2 L 6 smiby
QUG EUB FnL NI & HENSEUILGLANG. OF6i6s cugeus Hggnefler siseb 1 5 erefld, Sigen
e &mevons.

The radius of a conical tent is 7.m and the height is 24 m. Calculate the
length of the canvas used to make the tent if the width of the rectangular canvas is 4 m?

L{-O 6 UGN |H Baierled, 10 wnevoreud serfledr ipleluesorgmer 25 29 30. 33
35373840, 4118 gy@. nevoteur &6t QMM wHLIeLeTorserfledr S L 6160856 5o SHMesurs.

The marks scored by 10 students in a class test are 25, 29, 30, 33, 35, 37, 38,
40, 44, 48. Find the standard deviation.
L;\) A B. C eaemuen g@penid cpermy Hepsdser. Gogud B devLliugnsener Hlopsssy
A -ér Baposeeul Gure @mLmsnseyw, (' devLliughsener flepssey A-o ef

1
PN LSS o drerer. Gueud P(ANB) = é, P(BNC)= T P(ANC)= 3
PAUBUC) = % P(ANBNC) = Ilg aald, P(A), P(B) whmid P(C) -mb sneies?

If A. B. Care any three events such that probability of Bis twice as that of probability

of 4 and probability of C'is thrice as that of probability of A and if P(.1" B) - %
PBne =L, pancy =L, pauBUC) =L, PUANBNC) -1, then find
4 3 10 15
P(A).P(B) and P(C")?
L2) (¢ —ab)r* —2a* —be)r + b~ ac = () aeip BTG APRREET o HMID Gl
arefled. a=0 aiedeg a’ +b° + ¢’ = abe e Hemd.
If the roots of the equation (c* —ab)a® —2(a* ~be)r +b° —ac = 0 are real and equal

prove that either a=0 (or) @’ + 0 + ¢ = 3abe
PART - IV

Answer all the questions 2x8=16
O -em6y eOLWINGS &ML 3.6 665 Hueersr el euedId. eulL Sl

WS Hedlbnhg) 7.2 616 .5 agnemevefigieien P eredtn Lieaflemiid Guils g Siwiererfluiedlbm &
' L HIHNH&H HNbLBHM(b&HET 6LemTEH.

Draw a tangent to the circle from the point £ having radius 3.6 cm, and centre at O
Point P is at a distance 7.2 cm from the centre.

OR

279
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a8NheSLILLL WHBSTevond [N N-601 o5 LdHsHIsefler eflfHbd — 6Tedr SiemOWILONTY 62
. . . I V
Y EOEUTHS (WHBHTEOUTD CUeWI . (Di6ne) &Hnrevofll — < 1)

2

Construct a triangle similar to a given triangle LMN with its sides equal to — of the

. ; , : I i

corresponding sides of the triangle LMN (scale factor — < 1).
)

L2) > A garment shop announces a flat 50% discount on every purchase of items for their

o)

b

customers. Draw the graph for the relation between the Marked Price and the Discount.
Hence find
(1) the marked price when a customer gets a discount of 23250 (from graph)
(i) the discount when the marked price is ¥2500
QM ST SHEDLIINEITE HEOTE CUMYSENHWLITETTHEHHE GUNRIGD Eeueleum(r 6L Herflesr
BSgId 50 % HenEpLgeOWw 2feNEHNG. GNEHS ENWOHGD HETEBLIGEHSIONEDT CUEDTLL D
eI SH. G,
(1) euewTuULSHO®BHE, QB euMgdenswnerny 3250 -g SETEBLIGWTHL  EUHDTED,
S&NSHS fleneOemUIS &HITETUTS.
(i) &M1& efemeowimeorg T2500 ereufled, HETEBLIG EDUIS SHITETOTS.

OR

y=a" ~5r—06 -uledl euemTULID 6UEDTHE, SO LWTUGLSS +° — Hr L1 =0
6T60TM FLOETUNL 6WL & ST HHEYLD.

Draw the graph of y = 2 — 52 — 6 and hence solve 2> — 5z — L1 =0

M.A.SENTHIL KUMARAN

B.T. ASST IN MATHS
V.M.G.H.S. SCHOOL
PERIYAKULAM 625601
THENI DT
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